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Question Number : 1 Question Id : 1056151761 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following organism shows reproduction by “fragmentation” as a common
feature?

& ér:a{:.} I:J ey &@J J@ dﬁﬁ&g&ﬂsﬁfﬁo W30 Prs L&t ?
Options :

Spirogyvra

A oy

Saccharomyces
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Amoeba
950057
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Chilamvdomonas
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Match the following lists:

A)

& §0 DEYOD BEDEIG

A)
B)

C) &g8d0anded

D) 95 Seafadudain

The correct match 1s:

List-1
HIV
Mycobiont

Deut eromycetes

Cell wall with silica
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Options :
B
ull L1V
1.4
A B
11 II1 1 IV
2. %
A B
11 11 v ITT

v 111

111 IT

1 IV

List-1I
1) Shelter
i) TMV
1) Pennales
1iv) Conidia
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i) ) &Sy
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D
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D
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List - I1I
I) Auxospores
IT) RNA

)  Trichoderma
IV)  Mineral absorption
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Choose the mcorrect statement among the following:

A)  Ptenidology is the study of vascular cryptogams.

B)  Reciprocal relation between plants and environment 1s called palynology.

C)  Biophysics and molecular biology are pertnent to both plant and animal
sclence.

D) It is possible to produce disease free plants in large number with tissue and
organ culture.
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Options:

A. B only

A. B doeghed
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B. D only

B. D &rgd
2.9



A. C only

A, C Srgd
3. %

B. C only

B. C S
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Which of the following is having multicellular. jacketed and sessile sex organ?

s $0b S 2T0EHONN, SohE0SNg, Yot Bare Cohimasalarin GRS Gotrow ?
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Options :

Selaginella
nJ Wrﬁ%m
1.9
Cvycas

255

Gnetum

D)
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Which unbranched tree hosts heterocystous symbiont i its modified roots?

o) Parlires ﬁuﬁgr Sraret®lo wolnd ﬁ%‘f@@i e 3.)5}3 He Dareda Gotlelh?

Options:
FPinus
DS
1.% %
Cveas
D3V
2.
Ginkgo
3 % Aol
Cedrus
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Which of the following inflorescence consists of many male flowers that develop in
monochasial pattern around a single female flower?
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Options :

Verticellaster

NTareIDsTe)
(T

Hypanthodium

TRRE GO
2.% 7

Polvchasial cyme

20T0PPOD DByBo
3. %

Cyathium
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Assertion (A) : The flower of Canna exhibits asymmetrical symmetry.

Reason(R)  : The floral parts in Canna flower can be divided mto two equal halves
by only one vertical plane passing through the centre of flower.

SO0 (A) © IS D30 T GRS FiSo SPiYBD.
Pl R) @ ey D@y Fefle Mom a8 SUe ol IS, W) ada)
BPTPOND QNP Dobed VLGP WORDY.
The correct option among the following 1s:
& §ob) 02T A0SR
Options:
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) RSgasw. (R) gk sOaiv (A) § (R) ROQLS Deddies

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Dgai0. (R) DBgain ®on@ (A) § (R) 0O d5des 5760
2. %
(A) 1s true but (R) 1s false
(A) DBgaw. R (R) 00Sgw
3.¥
(A) 1s false but (R) 1is true
(A) 893Sz, 5 (R) DBgein
4. %
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Identify the correct statement from the following:

A)  In Loranthus, ovule is not covered by any integuments.
B)  In Sunflower. single ovule is seen in the ovary.

C) Pollen banks store selected pollen at =196 C.

D)  In Hibiscus anther 1s dithecous.
E) In rice pollen grains are viable for months.

& §ob) PG DO TPF gl (0Qouidaln:
A) S0P Doliaind) B30 8ol ESTPe Goliad).
B)  odiiihs @ @eirdohein af @oticn &g 59 ahotned.

C) oIy S26S O0°l Bemadwnd —196 'C 58 FOS apgeSe” Qugiplh.
D)  &reddpo0oe §dan Qg
E) 230 RTP() TewaHn S JOL SO0 S0LEeS &olaN.

The correct answer 1s:

20 ":.}Qcé B2aTP20:

Options :
A.B. C only
A, B. C @
1.¢
A. B, D only

A.B. D Srghd

B.D. E only

B, D. E &g



C.D. E only

C. D, E &g
4. %
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Asserfion (A) : Apomuctics do not show segregation of characters m their progeny and
therefore have huge potential in hybrid seed industry.

Reason (R) : Apomictic seeds are produced without fertilization.

BBt (A) : P NS oimry DydiElad Jra, $HE e dgv
argiasg Gotiols” 9T arandge SUL.
Fomn (R) @ wdfl AT dustn Ofw &8 Sohiodb.
The correct option among the following is:
& §ob D)FUS A0ALIA!
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 85050, (R) 855850 00K (A) & (R) 0O DSes
1.¢

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) $8950, (R) 09350 @0 (A) & (R) DO DSes ¢
2. %



(A) 1s true but (R) 1s false

(A) Do, O (R) @500

(A) 1s false but (R) 1s true.

(A) 893580, 9 (R) 855050
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Which parts of a flower represents the symbols (C). G and G respectively?
93 (€). G 500050 G De8eren ) aPrPokh S80E Krrdipow?
Options :

Polygamous corolla. mnferior ovary and superior ovary

Be0iNE BE0E VTS, Q) WolePF0io, &30] Wk ICLe

1. %
Gamopetalous corolla. Superior ovary and inferior ovary
oCing G0 UTPUIY, &I0Y Wok 0, Vi) Wol0Ma
2.

Gamosepalous calyx. inferior ovary. superior ovary

o03nE G588 ﬁ@“&ﬁ@, ﬂﬁi@nﬁ“ﬁdﬁe, *.%3{25 ol d0do
3. %



Gamosepalous calyx. superior ovary. inferior ovary

o0ling O88 REPEP, &0T Wokd0Ne, Q) Woled0ie
4, %
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Which of the following statements are correct with respect to Solanaceae?

A)  Gamosepalous and persistent calyx.

B)  Epipetalous stamens alternating with the petals.

C)  Free petals in valvate or twisted aestivation.

D)  Bicarpellary. syncarpous and bilocular ovary with parietal placentation.
O 50008728 Ko2olod &2 §obd ) gRFLN HOTVSD?

A) B85 DZSP Detingo, QEFTOL.

B)  HHASTDORS SHoren et HTPueS” awetlo.

)  onecing u8le a8 w, SPeoind Our HOSENN s S,

D)  Solg Wolkargie &) BIRVGY, D00 000N HEU0SNG Wokrd0ie.

Correct answer 1s

50 OGN VT

Options:
A. B only
A. B JSrgad
1.4

A. C only

A, C Spgid



A.D only

A, D S8
3. %

B. C only

B. C Srgd
4. %

Question Number : 12 Question Id : 1056151772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is not true about bacterial cell?
2°S00DS FEPRS DooBod §obd TEE' o PRy Bi))?
Options :
Possess genetic material not bounded by nuclear membrane.

So%3¥ Bt WSBeSEIED g DTPED EON Sobtwod.

1. %
Small circular DNA molecules are present in the cytoplasm.
Sea (adgoS” W) Swirsd DNA etae)en Gobrow.

2. %

Pili and fimbriae are extracellular structures for motility.

20 SO0 Do SLSo §EK ) YGeS 8ea Gy DT TN
3.



The cell envelop is composed of glycocalyx. cell wall and plasma membrane.

DSOSy, 0 Lo 00K Py TS 5 YIS AN,
4. %
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What are the differences between plant cell and animal cell among the following?

A)  Cell wall

B)  Cell membrane

C)  Ribosomes

D)  Centriole

E)  Large cenfral vacuole
F)  Plastids

n‘ﬁgi $ere) anO0ow Betitre &'.ués = é_of.} OEOS o) B0 Eotnod ?

A) e EdSeln

B) ¥ Sgudain

C) Dol

D)  Rocaird

E) b g 088

F) P Ge)
o Bl )
Options :
A.B.F only

A.B.F Srg
1. &



B.C.D. E only

B, C. D, E Srg

A.B.E.F only

A.B,E.F Srgd

A.D.E.Fonly

A.D, E. F &g
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Which of the following are the functions of RER and SER that are actively involved in
the cell respectively?

RER, SER GG, &+ §o0 o) Q0600 S5 $eaots” So80rP e obron?
Options :

Synthesis of proteins and lipids

1.+



Digestion of lipids and proteins

DR, FEdIa 2QovdedoEon

3. % -
Conversion of stored lipids and proteins
QO3 &) O, eI D8SGS DohHeios ow
= S R 1 -
4, ®
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Choose the correct statements from the following:

A) Protein threads exist throughout as rigid rods.
B) By dehydration. glycosidic bond is formed.

C) Adult human haemoglobin has 4 subunits.

D) Paper does not turn into blue colour with Iodine.

&2 S0l PG DOTN TP gEFUD (VQovidaln:

A) e B0 DD et DS SEE BYETOS BewrOSD Polrow.
B)  QO8sman mr3on DSRES ol w8 yted.

C) < raPFTRRS 4 SOQITPL adobTeow,
D) o0rao e s2Ndn AOMrP drdd.

o

Options :
A.B.D only
A B.D &3.7"'@&
1. %



B.C.D only

B. C. D Sr@d

A.C.D only

A, C,D g

3. #
A.D. C only
A.D. C &S
4, ®
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Assume that a DNA molecule is having three full helical turns and each turn with three
guanines. How many double bonds are possible between purines and pyrimidines in the
above mentioned DNA molecule?

¢

w8 DNA est0a)& i 70 a8 Suaid§oll, e DBOKS" 3 — g Sad. 2

2835 DNAG'D 75003 59000 HX50Ge] 085 ) 8306000 a) 16208 Pgadanod?

Options :
9
1. %
18
2. %

3.v
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Match the following lists:

List -1 List-II
A) Anaphase 1 I) Diad of a cell is formed
B) Telophase I IT) Haploid daughter cells are formed
) Anaphase II III) Homologous chromosomes get separated

D) Telophase II IV) Splitting of centromere in the chromosome

s S0 DEIELD BB edn:

D83 -1 e -II
A Sosss I ) Bol ¥rw 2289 o) D
B) 0B I ) oS08 g S a)8od
0 WU II M) Jderdad §arPaow JEFTPon

D) wedddsll IV)  §arrds 2ol oDs devtiod

‘

The correct match 1s:

Options:

1. %



I I 11 Ay
A B B D
111 I IAY II
2.9
A B 2 D
III 1RY T II
3. %
A B C D
I1I II I IV
4, %
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A student observed transverse sections of 2 plant parts under microscope. In that. T.S
of ‘A" has many vascular bundles arranged in a ring, while T.S of ‘B” has many scattered
vascular bundles. Identify the materials ‘A’ and ‘B’ in the same order.
a8 Ergd Dol AL &Y EESu Jrf)doY (iddewrd. PO ‘A a8,

9SG af U0 B0 O TIE Yorry GolP, B’ ) @SS

Options :

1. %



Monocotyledonous root. Dicotyledonous stem

iz c -
8efEleE a0, UeElE Fotio

Monocotyledonous stem. Dicotyledonous root

- )
w¥efeles Fotio, BWTRIE I

Monocotyledonous stem. Dicotyledonous stem

.
0¥e5edes Sotio, BEVEIE Fotio

Dicotyledonous stem. Monocotyledonous stem

‘.
& 5&3*’;@3% 5"’0&&}, oECiereEles olio
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Assertion (A) : Adaptation enable the organisms to survive in stressful habitat,

Reason (R) : Adaptations are not fixed genetically but take long evolutionary time to

stabilize.

WSO (A) @ wdh GaPuod HadeV aeldii PHirdd ediruTre

5% RSP

F0man (R) : OErOTL Bgnder® Ve ). P G50 FolbrS "még

&

NOEPIT0 en0oton.

The correct option among the following 1s:

& Sobd 2FOT OGRNE:

Options :

1.

2.

3.

4.

4

#®

®

#®

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) Bgai0, (R) 0Sgasn 00w (A) § (R) 0G0 Da3Ges

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 05580, (R) D950 9008 (A) & (R) OGS D6 ¢

(A) 1s true but (R) 1s false

(A) 855550, T (R) 885050

(A) 1s false but (R) 1s true

(A) @938, T (R) 855050
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Identify the characters related to xerophytes from the following:

A) Stunted stems

B) Reduced leaves

C) Single layered epidermis

D) Well developed vascular bundles
E) More air cavities

& $o8 U IR0 A& L VLD (Ddode:

A) ﬁ“ﬁ? SPoleaddd
B) £&dd D@
C) o FEICK0 errurgusdydin

D) 2P @920 Dobdd TP Hmerudin

E) QST JPO5W S0sTPeN
Options:

A.B.E only

A. B, E S35
1. %

A.B.D only

A.B. D Sres®
2. ¥

B, C, E only

B. C. E ooegda
3. % =

4. %



A.C.E only

A, C, E Sr@
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Assertion (A) : Active site of an enzyme is a crevice or pocket into which the substrate
fits.

Reason (R) : Intertiary structure of protein chain when folds upon itself. the chamn
criss-crosses itself. and many crevices are formed.

RSB0 (A) 1 %Y VYo FENG Gol aloBad ATy, 80y, T Dot ol HAPA)
o?]u@uia é&ﬁﬁ%l’.} E.:P(ﬁu @90l

Somed (R) @ S)dah ooy Fedh (Teok &S DD & s, oQorr
NS &otillo SUS O (edde Tap 8oy M EEAN,

The correct option among the following 1s:

& 8ol m-;ﬁﬂsﬂm‘? B0

a_

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 885050, (R) 855850 sr00%) (A) & (R) 0O Des
1.¢

(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

(A) Rehgaiw. (R) 0zl @ond (A) § (R) 000 D 3¢
2. %



(A) 1s true but (R) 1s false

(A) 05050, O (R) ©:085850

%
(A) 1s false but (R) 1s true
(A) ©0Bgew. 5°Q (R) Dgein

Cw
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Assertion (A) : The absorption spectrum of chlorophyll - ‘a” shows one-to-one overlap
with the action spectrum of photosynthesis.

Reason (R) : Higher rate of photosynthesis occurs at blue and red wavelengths
corresponding to the absorption spectrum of chlorophyll-‘a’.

ASGI (A) : DEFOSe — ‘27 Ay SN Sk SomRSzVeaIRisaN oy
SGRk0e” a8 TR Wil OST wra)tid.
#ein (R) @ 99 ook D SR S8 Dol 8OY SeIzneair(iSol

Ot DETr0S0 -‘a” gy, 3 dgbets” WOFOLLR Goluod.
The correct option among the following is:

& §old D)PUL” VOGR:

Options:

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 585050, (R) D580 s00%) (A) & (R) 0O D5es



(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) De8gadw, (R) 0dgain wow@ (A) § (R) 00000 Deides 5760

2. %

(A) 1s true but (R) 1s false

(A) OSgaiw. =2 (R) ewudgedn
3. %

(A) 1s false but (R) 1s true

(A) E‘rﬂa@figuﬁﬁ 52 (R) KJ@?S:&J
4.
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Assertion (A) : Photosystem-I participates 1 both cyclic and non-cyclic

photophosphorylation events,

Reason (R) . Both ATP and NADPH + H™ are synthesized due to cyclic and

non-cyclic electron flow through photosystem-I.

DNEBL (A) : Fod SgS0L S50 SO0 BN Fed FPYOBRS Honbse

OoboldeS i 3’3'?;)“0&1}0&).

SORW(R) ¢ FoB 30T TIT U oo wEON SOOA @EerP U

Wode wlibd o ATP dckn NADPH + H' Qolir Qe

INOWAAIWE

The correct option among the following is:

& o BQ)FPUS DOQLIL:

Options :

3.v

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 85050, (R) D855 00K (A) § (R) 0O D53

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 085050, (R) 0855050 @00 (A) & (R) 0O DSes 5

(A) 1s true but (R) 1s false

(A) 0855550, B (R) @855

(A) 1s false but (R) 1s true

(A) 809385, 9 (R) D505
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Identify the product that 1s formed by an enzyme catalysing a reaction resulting in
inferconversion of substrate during regeneration stage of CO, acceptor in molecule in

C, pathway.

C, S00ko8 €O, 58003 esh A, IOBYS BIS, 08 ISBD Y, &BYIE K

TF0° B0 Pget @oBlald PRourP Sy GEYTRY ST b,

Options :

I

. Ribulose -5- phosphate

2. B0’ -5- ary®
1.

6. Ribulose. 1-5- bisphosphate

6. BoeweS'R, 1-5, - 0 FRyé
2 %

2. Ribose 5-P

2. 05’0 5-P
3. %

2. Fructose — 1.6 - bisphosphate

5, v

L0801, 6- A FOES

A8
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Match the following lists :

A)
B)
C)
D)

List-1
CO7 saturation in C4 plants is
COz2 saturation in C3 plants 1s
Light saturation occurs at

Water stress closes stomata

& 500 DD wBGId0:

A)
B)
C)
D)

D8 -1
C4 08 08 CO2 Do Y0t
C3 008y, 0S5 CO2 0o )0
Poe? K}D@?}E\‘j@ S TAVIN A
&8O grd m@@)u@* DS0olren

INNERTT A LToW

The correct match 1s

B0 0T &S

Options:

A
I

IV
2. ¢

B C D
IT III IV
B & D

I II I

List—1II

) 450 L’

II) 10% of full sunlight

IIT) Reduces the CO2 availability

V) 360ul L’
o8- T1

) 4504 L
) 10% rQ Krdgeede
) COzeale Sthisood

V) 360ulL"
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Identify the ATP releasing reaction in the glycolysis among the following:

300 R3S PTOBD ot ATP DS OIS 2505 (hGoiiad:

Options:
2 — phosphoglycerate —— 2 — phosphoenolpyruvate

2 - FFNRE—— 2 — FFYITS PEFIE

1. %
1. 3—bis — phosphoglyceric acid —— 3 — phosphoglyceric acid
—Ed @“’Lﬁgﬁ%ﬁﬁg oo —> 3 .‘5"'555 (0085 eeo

Fructose — 6 — phosphate —— Fructose 1.6 — bisphosphate

Qgﬁ—ﬁ ?JD;JQLJ ——-}q.f?aglf— w;}vﬁ



Glyceraldehyde —3— phosphate —— Dihvdroxyacetone phosphate

ARTPOEPE -3- P8 —— GIPES)eEE &

[ - -
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In which of the following biochemical reactions. complex “V' of ETS of Kreb's cycle is
not operative?

= i o
& $old o) BESGPOLRE 28 ¢ 530, 9653 Sk ETS 69 cooé V' aowohd ?
Options:
Succinyl CoA —— Succinic acid
K}éhrﬁ{ﬁ CoA ——H—‘-”Jé:]r"&g oo
1. % e o
Malic acid —— Oxaloacetic acid
N oo —— @T&@@?Jﬁg oo
2. %
Succinic acid —— Fumaric acid
808 Baho ——> Vg5 &so
™ (]
3. %

(Cis — aconitic acid —— Isocitric acid

o — 95938 e ——> VLS esho
[ nr] e’ o

4.+
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Identify the false statement regarding fermentation from the following:

A) Glucose molecule 1s partially oxidized.

B) Oxidation of NADH into NAD™ 1s very vigorous.

C) Only 2 molecules of ATP are net gamned from a glucose molecule.
D) Occurs 1n anaerobic microbes.

&2 S0l PG SR8 Dotolowd) NG5S aPgasa (Qoa)ain.

A) (SR wmad) L P e8)E0te Wolb.

B)  NADH, NAD" P e5§3¥0t50 Jott) 908 a5l &obiod.
(4] REONE a8 (17§D @ea) ok 2 eeadw ATP ardad 08 3.

D) STVIVIVRSV T TN ISR HoVgVINeR

Options :

A
1. %

B
2. ¢

C
3. %

D
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Which of the following statements are false regarding ethephon?

A) A source of ethylene.

B) It is slowly absorbed and transported within the plant to release ethylene
rapidly.

C) It causes reduced abscission in flowers and fruits of cotton.

D)  Supresses the mternode elongation m deep water rice plants.

VAN VR EA AR ARy 5ol 2O &9 &sel)?
A)  OOSY Srudmo.

B) o8 Sdyare He0)S et Srm 3ol KBORMD difre Ao Jokn.

C) EJE;EJ@ BT )0, P TPORFAGRY ST 3ol
D) & 200 50 Ko Sma) SED PP OSEEY) SEIIWol.
Options:
A.B. C only
A.B. C 7@
1. %
B. C.D only
B. C. D o5&
2. ¢
A.C.D only

A.C.D Srg®



A.B.D only

A.B.D g
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The following characters are observed in 4 different pea plants (A. B. C. D):

A) Seeds round. flowers white. flowers in axial position.

B) Pods nflated. seeds wrinkled. pods green.

() Seeds green. pods constricted. flowers violet.

D) Flowers white. pods vellow. flower position terminal.

How many characters are dominant and recessive mn each plant mentioned above
according to the studies of G.J. Mendel respectively?

et o0 aeeed a8 08 (A, B. C. D) & fobb 0Emwn (isdoviegrow:
A) (0l BT, BYD Y0, VPO Pdo (1500

B) oGl D), sl (10 QGPe, 8 R LP)

() S0SR QST 78000 (1 DR, &Tdolh QY Y

D) 8 QY Y, DY

o)

L'4

Gt QU':'?.D, &),J_}E‘PQU ai“‘r:‘o @fj@o
G.J. Dol edg0bTre Hedorp, 20 IV FHOE SCOAP ) WARGS O

oD LIELIT) Q7

The correct answer 15

80 N0 NelrePe &
Options :
A B C D



2. %
A B C D
Al | 2.1 2.1 2.1
3. ®
A B C D
3.0 1.2 1.2 0.3
4, %
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Choose correct statements from the following:

A)  The frequency of recombination between gene pairs on different chromosomes
is the measure of distance between those genes.

B)  Drosaphila completes its life cycle in about two weeks.

C)  deVries. Correns. Morgan rediscovered the Mendel's results.

D)  Due to the visualization with staming. the term “chromosome” was coined.

& $o0 P D0 P5EOR (HloSos:

A) 3oz §ar¥on 2 &) Xabgadt SO YeAIrEs FHYTIR) GIOIFNod

W

LG

Bz g (0 QrorQ) O pd.

&=
)

FDer & e gy TR 0ol PTOY QI ek,
C) oS Q) HOTPOD &, S0y, Irgee 80N ST .
D) @izt SGoNS AT @O dyTuibouibiods” Pl “SarFdonn” o ad

2080,



Options :

A. B only

A, B S

B. D only

B.D Jdrgd
3.¢

A. C only

A, C S8
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Assertion (A) : Histones are positively charged basic proteins with DNA.

Reason (R) : Histones are rich in basic amino acid residues lysine and arginine.

D950 (4) : DNA Soth S A0Sy POFED ¥

0o (R) @ 20 Gal) 9SFPOS O, B0TI0 ORT YaIred IFFHue JedyRrr

o‘i)o@“m.
The correct option among the following is:
& Sold YT DOQLIL!
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D505, (R) 5550 00K (A) § (R) 0O DS5e3

1.
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DSgeiw. (R) 0Bgain @ond (A) 8 (R) 000 DS 5760
2. %
(A) 1s true but (R) 1s false
(A) IBgsw. =R (R) dgsw
3. %
(A) 1s false but (R) 1s true
(A) @909, 0 (R) {e9gai0
4. %
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Choose the correct statements from the following.

A)  Coding strand in DNA will be coding the m-RNA.

B)  If two RNA molecules are produced simultaneously. they will form a double
stranded RNA,

C) In prokaryotes. the structural gene 1s polycistronic.

D)  The expressed gene sequences are defined as exons.

& S0l PRG DOTS 5@ ()Qouinadd.
A)  DNA Jo® 03885 %, m-RNAS De3iedBuob.
B)  od¥FuotS ot RNA omson a))asgd ©d Dot #50 RNA P ayhosran.
C)  Sod¥ards sadus Ao ErS) s edogad) PORFIVET a)otidod.
D)  5iahg aadg ©DESrOd JFyde 8l ©olrd.
Options :
A. B only

A, B S8

A. C only

A, C S8

C. D only

C. D S
3.¢

B. C only

B, C g
4, %
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Which of the following is a non-sense codon?

e

&e Sold TS o)) BGGATES STTrm?

Options :

UGC
1. #

UCA
2. #®

UGA
3. v

UAC
4, ®
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Assertion (A) : Eco RI makes staggered cut to produce sticky ends in a DNA double
helix.

Reason (R) : Eco RI cuts the DNA in between G and A at the palindromic sequence
5'GAATTC 3.

RSO0 (A) : Eco RI, e ¢Sg0tdg a5 DNAS i $300s) S0 0806733 §'30%0
)5 Y5000,

#6aen (R) @ Eco RI, DNA &0 5 GAATTC 3' o3 9SG S80%0 5 G
200 A Soids $30R00R.

The correct option among the following 1s:

& §old DTS DO

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 8505, (R) 0855850 00K (A) § (R) 0O DSe3
4

(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

(A) 085050, (R) 0855850 ©00d (A) & (R) 0OGLS Des 0

(A) 1s true but (R) 1s false

(A) 93850, SR (R) @055

(A) 1s false but (R) 1s true

(A) ©085e50, PO (R) He9gan
.
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A plasmid from which bacterium is used as a vector to deliver a piece of DNA into
dicot plants?

R

Bgéefedes a0 6l DNA 206@d) Daiadeeds Sob o) arf00kn gy, Piyéad
GRAIRNPL?
Options :

Escherichia coli

)y Bale §O
1. %
Agrobacterium tumefaciens
&7 275 000a EgDIVADy
2.+
Xanthomonas orvzae
2o ol 2,08
3. ®
Xanthomonas axonopodis
&G aIFTD S SR
4. %
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Assertion (A) : Cells multiplied in continuous culture system produce a large biomass
leading to lugh vields of desired proteins.

Reason (R) : The added fresh medium mamtains the cells in most active exponential
phase.

AYSBa (A) : ©DA)S) S AP SEPOD tedolers DU SO WOE 2aSBa07
(0 ool Frély Bl DlALSeR.

Foman (R) @ S olirded) Erarmr Sy sotiol dond S0 008 Redid G
§SPhodek .

The correct option among the following 1s :

& Sold DQFUS VOGR!

Options:
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 085550, (R) 055850 a0 (A) & (R) 0O DeSes

1.¢
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) R&gai0. (R) 0Bz @on® (A) & (R) D000 D5 5760
2. %
(A) is true but (R) 1s false
(A) OBgeiw. R (R) @Sgein
3. %

(A) 1s false but (R) 1s true

(A) 89350, T (R) DB5e50
4. %
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Which of the following techniques serve the purpose of early diagnosis?

A) PCR

B) ELISA

C)  Analysis of urine
D)  Serum analysis

A) PCR
B) ELISA
C)  SwrGo D3

D) e dgae
Options :

A. C only

A, C S
1. %

A.D only

A, D Srg
2. %

A. B only

A. B d5orgsan
3.¢ =



B. C only

B, C &g
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Choose the incorrect statements from the following:

A) Aspergillus produces acetic acid.

B) Lactobacillus produces lactic acid.
C) Lipases are used in Laundry.
D) “Cyclosporin A” 1s used as blood cholesterol lowering agent.

& $o0 PO VOFR FFWFUD (PDQo.
A) &) 0asg), WIS el & YDBR.
B) erSeTPIEI, PES B o &S SIW0.
C) SE-ISVEAINSIVEELTEVAEVER Ve phvdet)

D) 5% SSPISR B0 “VEFYOS AT & JATFAPL.

Options:
A. B only
A. B doeghad
1. % =
A.D only
A. D &Srgeb
2. ¢



B. C only

B. C JSorg
A. C only
A C &gl
4, ®
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Assertion (A) : Constant agitation of primary effluent in large aeration tanks promotes
vigorous growth of useful anaerobic bacteria.

Reason(R) : The microbes consume the major part of the organic matter and reduces

the BOD of the primary effluent.

AYBB (A) 1 PO DeSirodd DY EreSUS’ PUQE K SgTPy BT DAP E0doviilo
S0 GOArIEGRY @roln @il e Sa'dedorr
oGS 56 \dod.

Foado(R):  rfeledo FODE G Sl E)S drd @b gy

AAAPNeuedron 00k BOD Q &hrow.

The correct option among the following 15

& §obd 02)TU 0RIR !

Options:

1. %



(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 0855050, (R) 855850 0% (A) § (R) 0OGHS D5e3

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) Dehgai0. (R) Dgain 0@ (A) § (R) 0O d5des 5760

2. %

(A) 1s true but (R) 1s false

(A) ISgasw. 3 (R) eoSgadn
3. %

(A) 15 false but (R) 1s true

(A) @38 gaw, A (R) 0Sgadw
4.+
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Maintenance of relatively constant internal conditions (steady state) different from the
surrounding environment is called

OONCPOE" sty Gad) 085 2 ot s A8 et Srfodiird) & ddor™
Gy obrl,
Options :
Haemostasis

o e ML"?\J:':]

Osmoregulation

Qaredoda S

2. %

Homeostasis

Qe (Homeostasis)
3. ¢

Biogenesis
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Assertion (A) : Naja naja is a tautonym.

Reason (R) : Amimals in which generic name and species name are the same.

B\BBn (A) : T TPer O3 Taldo ¢S Ao,

=

Geio (R) : P90l TPde N A, a7 WAr wE.

The correct option among the following is

& Sodd aﬁt}?mﬂ* WelOWWNA

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)
(A) 0Bz, (R) 0Sgei0 abaln (A) § (R) 006G Deddes

1.

(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

(A) 85550, (R) 09550 @00 (A) & (R) DO D58 T

(A) 1s true but (R) 1s false

(A) 089550, PO (R) 09380
3. %

(A) 1s false but (R) 1s true

(A) ©0855550, 9 (R) 09380
4. %
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Statement I : An area which 1s set aside. minimally disturbed for the conservation of
the resources of the biosphere is Biosphere reserve.

Statement IT : Specific endangered faunal species are well protected in national parks.
which permits ecotourism.

DSPGS [ 1 Y Soddow Doliferdo Sy woxé $A0 gégéom o VIR 0 VAT
DRPOD 215 WEES Sl wobrl.
SOFESTL : S0l FELS BeBO0IF) AR BV MOLPD, O AT

9T A0 TPERRUND SRS,

The correct option among the following 1s
& §obd 0)FUY HOQLIL
Options:
Statement I is true. but Statement II 1s false

QBFPS T R0TINE 520 REFUS IT FOALNE 570

1. %
Statement II 1s true. but Statement I 1s false
@,&Fdﬁnﬁ IT 2OCLSG ° @,&FC&:& | RleloRAINTARSAY)
2. ®

Both Statement I and Statement II are true

DSETES T 5000k DBPES 1T Doty 2001
3.¢



Both Statement I and Statement IT are false

‘L

B T 0050 HAFES TT Soldd HOTSD &

[
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Multicellular animals that exhibit cellular level organisation are

2908 0EI0 &

SE3 JPOU adgedn 80 W aTv 85s e
Options :
Protozoans
FES 23 S0
L) [
1. %
Metazoans
aodees” ;lﬁr;m
2. %
Eumetazoans

O eres S

ar)

Parazoans

ro'ﬂﬁaicg:
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Read the following and find out the correct combinations.

=5 §e@ BT B0 W Kdgcé VISR BINVE g Vot

ol

Options :
Coelom / Symmetry Phylum Example
300 HoirSo [RrQadesn G0 SaSlel
Pseudocoelom Platyhelminthes Ascaris
EegIOE 50570 T O R &5 O
1. %
Coelom / Symmetry Phylum Example
308 SoarSo /PRS0 NTaTNTY &rrde
Bilateral Cnidaria Hvdra
QRS SuarGein SVrlalonby T
2. %
Coelom / Symmetry Phylum Example
300 Soir o /rgaSedn a30ed0 &G
Eucoelom Annelida Pheretima

QoS Soardadn
3.¢

D8I



Coelom / Symmetry Phylum Example

305 50iT 8o /FQe5ei0 ENTOINAY) TR el]
Radial Ctenophora Obelia
TIPS TR IS fo) a.2)daltr
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Match the following:

A)

B)
C)

D)

List -1

Moist surface of pharynx

Larger ducts of salivary glands

Ventricles of Brain

Lining of stomach

ARVIARE Lo

A)
B)
©)
D)

Sk - I
Babiter 500 SHOSwo

PP (JolL alnegTPTtL

The correct match 1s

OGS 2

2. ¢

L

Options :
A B
IV III

IV 11 V

List -IT

Non ciliated columnar
epithelium
Transitional epithelium

Stratified cuboidal
epithelium

Stratified non keratinised
squamous epithelium
Ciliated columnar
epithelium

sovdde Gard 0% duy v G5V
FOFN0L Qoarsd &5

F



I Vv III IV

Vv II I IV
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Neuroglial cells developed from mesoderm are

0GR INe ok BRPYD Dol Srg@HONG ST

Options :

Ependymal cells

WDaotaided Leren

Astrocytes

Py

Schwann cells

aﬂié Sgee



Microglial cells

0§ HOLS Seren
4.
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Match the following:

Classes Examples
A) Demospongiae I) Corallium
B) Anthozoa 1) Beroe
C) Hydrozoa III) Euplectella
D) Nuda IV)  Obelia

V) Chalina

S0l eI BOIGDG ¢

DETPTPL Aol IV

A)  GaFYP )0l I) Sordalo
B) eofed e IT) 238°

C) e )  alrgser

D) Jree IV) aaddalr
V) JSoo

The correct match 1s

DOGDS 239

Options :
A B © D
Vv I IV III



A B & D

Ii IV I Vv
2. %

A B (7 D

Vv I 1AY 1T
3.¢

A B & D

II1 Vv IV I
4. %
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Lepisma 1s commonly known as

ﬂaﬁj"é Ol&Ef:T iﬁ”éﬁ“cﬁﬁ TPoddo

Options :
Jelly fish
SO DD
1. % =

Cuttle fish

58S QD



Devil fish

E:iu:m%&g_) e
3. %
Silver fish
e, £ e ey
4, &
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Special excretory organs are absent in

e A o e,
;.3@55 DeoOSPa0N6TPe) €5 SJoDad 250
L

Options :
Ophiura
Loalvoe

1.4

Saccoglossiis

j‘?ﬁf@‘%ﬁﬁ
2. %

Balaniis

BTS00
3. %



Periplaneta

DOGIEr
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Assertion (A) : Branchiostoma 1s often described as typical chordate.
Reason (R) : It has a myogenic heart.
RBNBB1as0 (A) 1 ZPoSATPFalTL Jelirie 0830080 Wolrd.
=Ceic (R) : O Eoted 8IS T Yake &obuod.
The correct option among the following is
&2 S0 DAYFOS DOANI
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)
i (A) OBz, (R) 0S50 s00aw (A) § (R) DOGMS Daddes
1.
(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

(A) Ageiw, (R) gein @ow (A) § (R) Q0GRS Dbt s

(A) 1s true but (R) 1s false

(A) D350, T2 (R) 0Bz
3.V



(A) 1s false but (R) is true

(A) ¥383w, 5°A (R) Bge0
4, %
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Study the following table and pick up the incorrect combination(s).

SNo Group Salient feature Example
I) Cyclostomata ~ Absence of renal portal system Lamprey
IT) Gnathostomata  Internal ears with three semi Lancelet
circular canals each
III) Chondrichthyes Heterocercal caudal fin Torpedo
IV)  Osteichthyes Absence of air bladder Catla
S0 LIS z0hdo W RO BOWIER VY FTUD (WQeleb.
So  RFEFo SR LS AR
I) D§ Ter S8y RTPLTE Sl Gobeld eroR)
1) eS8 Faodr SO I P Y Sy Uo,sggeﬁ
Sougen
IT) Fokin QWD YT ee0 &roya
IV) @i POk §'do O¥F o g
Options :
I IT
1. #



II, IV

I, ITI

LT\
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Match the following:

Zoological name Comimon name
A) Hemidactvius I)  Flying lizard
B) Bungarus II) Flying fox
C) Draco III) Wall lizard
D) Pteropiis IV) Pond snake
V) Krait
500 TrEdR 22BNk
FRYIOD TPeddo PEPUE Ped00
A) @*@@E&E D 0D 5ol
B) avoPdv 1) A3 S5
C) &% III) 7¢ 20
D) &6dow IV) D& aradw
V) & araiw

The correct match 1s

KOG 2385

Options:
A B C D
III Vv I IV
1. %
A B C D
IT I Vv 111
2. %
A B A D
II1 V I IT
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Digenetic cytozoic parasite is
O3WBTPoW VETEPONS VTP e

Options:

Plasmodium

Fycabo

Wiichereria

&300alr

Entamoeba

aJolabaTe

Nosema

oS ale
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Which of the following stages of Plasmodium are commonly found both in human being
and mosquito. in its life cycle?

G0 B Kot S S0 o) ¥, SPSPRL $0AK G, TGS D PSP

§RaPON

-]

Options :
Sporozoites and gametes

o Qc.”? 23200060 SO0 NeCIH 2U2TPE0

1. %
Gametocytes and gametes
SOV T NV R VINATSTO VIV Lo Vo Bo7 DV
2. %
Gametocytes and sporozoites
RoCr(S elezalized yEen SO0k WFyEerandn
3.¢
Sporozoites only
CANCESHOWIAVINGL L INY
] R
4. %
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Nocturnal periodicity 1s exhibited by
QTTU GdGTR) D000
Options :
Rhabditiform larva

or2oouIEdarde Gotd¥o

1. #
Wuchereria
&5000ir
2. ®
Sausage shaped larva
e ©95°0 GozdSo
3. %
Microfilaria
0§ RSoase
4. &
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Match the following:

List-I
A) Typhoid
B) Pneumonia
C) Common cold

D) Ring worm

S0l eI BODGIG ¢

o - 1
A) &Grows
B) gardods
C) Fordon sevaw
D) &Pad

The correct match is

NOGLS 239

Options :
A B 8
II IV III
1. %
B 6
II IV I
2.
A B i
Vv I IV
3. %

4. %

List-IT

I)
IT)
III)
IV)
V)

IT)
IIT)
V)
V)

1\..'-"

II

Rhino virus
Salmonella
Papilloma virus
Haemophilus

Microsporum
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Marijuana is obtained from

&

ez & Dok LEIN
Options :
Cannabis sativa
$50°) 2000 DT

1.4

Ervthrozvium coca

2oL Beo S5

.
Papaver somniferum
BaRaSE Py DD

Atropa belladona

QS 2D
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Which of the following rules states that with the increase of every 10 °C, the metabolic
rate doubles?

Options :

Allen’s rule

a3 B oy M
0 o JOel0

()
1. =
Vant Hoff s rule
old 5 Aoledo
2.+
Bergman’s rule
236000 0B
3. = i
Jordon’s rule
25" 0P Q030
4 % 2
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Ifh=65andd=45:N=100

. dN . .
Find out — in a population.

a8 RTEP b = 65 (235 O6w) d = 45 (<ode Béw): N = 100(z7°5° 20:rte) @008, &
TNV Y aoth?
dt
Options :
200
1. %
2000
2. ¥
100
3. %
1000
4. ®
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Assertion (A) : Inspiration is an active process.

Reason (R) : It takes place by the contraction of muscles of diaphragm and external
wnter costal muscles.

28)BO5 (A) : &30 S0ird0 H0b.

500 (R) : & 80N0E" et DAY HEorL, JLND DENFSE Sl

L

sﬁug‘@_ﬁfm.

The correct option among the following 1s

& 8ol wq)s&oﬁ‘ SeloIUNA

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 09385, (R) 5350 900K (A) & (R) DO DS

R4
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Dgain, (R) 0zl ©90w (A) § (R) DOGLS DGt 56
(A) 1s true but (R) 1s false
(A) DBgai0, = (R) 00Bgain

(A) 1s false but (R) 1s true

(A) 05, PO (R) D580

L
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Right side shift of oxygen haemoglobin dissociation curve takes place during

wiyE® — AP HS D0 0 b Ja i wdierds wle

Options :
High pH. Low CO2. Low temperature

@O pH, @807 CO7, S50y o &FHS

1. %
Low pH. High COs. High temperature
S50, & pH, @08 CO2, 09df &S
2.9
High pH. Low COs. High temperature
Q8 pH, B850y CO), 908 &
3. %
Low pH. High CO2. Low temperature
S50y, pH, @008 CO2, 805,05 &3F(1ES
4. ®
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Clotting of blood 1n blood banks is prevented by adding

3% A Sorod” 85 &

(A4

p02-000 230(3800G DD Seup @

Options :
Carbonates
@ﬂﬂseﬁw

1. %

Bicarbonates
NS RIVIATSY

2. %

Oxalates
@E}ejeﬁw

3.V :
Phosphates
PR

4. %
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Which one of the following factors decreases the heart rate and cardiac output?

£ Y505 3058 B, 0¥ FSB0BK0 B



Options :
Signals from sympathetic nerves

Signals from parasympathetic nerves
Ve aire Tk NeSTre
2.
Adrenal medullary hormones
©OE )8y (Jod 53 AluEy PG
3., %
Thyroxine
@D“‘Ebﬁ
4. %
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Read the following statements and select the correct statements in the given options:
I) Blood flows into the glomerulus through the efferent arteriole.

I) Glomerulus along with Bowman's capsule forms renal corpuscle.

III) Vasa recta is a fine branch of afferent arteriole.

V) Juxta medullary nephrons have long loop of Henle.

& S0l gz @000 W, OGS )80 (Qea)a.
D) darir a8 aryoe 588 0w ()08 G0 RairReld.
I) 8888 O (oudyo, wTade (98 SR )%, Seao o) 3080083,
IIT) aPwrOg a0 Wearar Gl sy wf T,

IV) @8)8r g0 %, QPR R0 g0 FhadT &otiod.

Options :

L II only

I IT S

I1. IIT only

IL IIT &Somg8s

L IV only

LIV S

I1. IV only

IL IV &Sog8a
4.
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Assertion (A) : Deficiency of vasopressin causes diabetes mellitus.
Reason (R) It facilitates the reabsorption of water from the glomerular filtrate.

BB 1 (A) : TFRID B YPdo o3y AR YLD B3 g Suutbvod.

S0 (R) - 5O (PO &S0/ TPOB0 S0 O % D) DORRGD.

The correct option among the following 1s

& Sobd 20)POY LOGLID

Options :

(A) 1s true. (R) 1s true and (R) is the correct explanation for (A)

(A) D955, (R) De9gai S8 (A) § (R) KOS D58

1. %
(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)
(A) S50, (R) 0Bgain eow (A) § (R) OG0 Do ¢
2. %
(A) 1s true but (R) 1s false
(A) 9550, R (R) S0e85a0
3. %

4.+



(A) 1s false but (R) 1s true

(A) ©0BgE, P (R) DBgn
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In liver, lactic acid 1s converted into glucose through

006" 8 Gabo ol (XS er GG DD

[or) ™

Options:
Glycogenolysis
05 225 O
o
Glucogenesis

QFQ*E;ERJE

Glycolysis

5P
£

Gluconeogenesis

0 iP5 ARSIV
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The only cranial nerve that extends into the abdominal cavity is

&0 S0s8o HEEL aPgdled) Gl &3 &l S &
Options:
Trigeminal
Sordord
1. %

Glossopharyngeal

s A
2800 4 (900 m e

2. ®
Hypoglossal
RO oG
3. %
Vagus
iR oG
4. &
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The following diagram shows depolarisation of nerve fibre. Identify A. B. C i the
diagram.

D 0ot T DS DPG @ D Yt 3 WreaGad. Dhed A, B, C 0 (e,

o

Options :
A —Na' Activation gate, B—Na' Inactivation gate, C —K' Inactivation gate

A —Na' &fdad 1i¢h, B—Na' goeddae 1ié, C-K' goedadian e

1. %
A —Na' Activation gate, B—Na' Inactivation gate, C — K" Activation gate
A —-Na' &5fdae 06, B-Na' gardadae 08, C-K' esfaan 08

2.
A —Na" Inactivation gate, B—Na" Activation gate, C—K' Activation gate
A —Na' go°§3e A6, B—Na' efdie 6, C-K' efadiad 66

3. %

A —K" Activation gate, B—Na™ Inactivation gate, C— Na” Activation gate

A-K' Héaﬁqﬁ fi¢5, B—Na” aaﬂéai?‘qﬁ 0é&5, C—Na” @é&i-‘:’bﬁ 0é
4, %
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Assertion (A) : Insulin 1s a hypoglycemic hormone.
Reason (R ) :Insulin converts glucose into glyvcogen.
Q3)BB a0 (A) : 3YDD FFFQUWS 0D (hypoglycemic hormone) ol .

00 (R) - gD, YrsED QS’*ESW SR

The correct option among the following 1s
&2 $ol DTOS OISR
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) De3ga0, (R) De8ga50 a0dA0 (A) § (R) 00D dSSe

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Dehgaim, (R) Ogain @0 (A) § (R) 000 Ddes 260
2. %
(A) 1s true but (R) 1s false
(A) 0Szei0, 5°A (R) 00Sgaw
3.¢

(A) 1s false but (R) 1s true

(A) 09580, PO (R) D50
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Acromegaly i1s due to the deficiency of

@

35 PO O O yPdo g FLuthHgtned

Options :
Somatotropin
TadTeES ¢S
1.4
Somatostatin
2. %
Thyroxine
Dord\e
a— )
3. %
Adrenalin
GO
Wt
4. ®
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Colostrum contains the following type of antibodies

PViTeV aPeeS Sa S0l BEZO }9@5&*’3@; EolfIP00

Options :

I A
1.¢

I G
2. %

I E
3. %

I M
4. %
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Due to infection of HIV progressive decrease of these cells takes place in man

HIV Rofabeio o8 airaad RS & S5°0 oy TPl 0Pl Sihoehold



Options :
TH— cells

Ty — Semen

Tc — cells

Tc— Stren

B —cells

B — fzren

Memory cells

2330 SEPe

b

al
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Arrange the following parts of Graafian follicle from outside to inside in a sequence
(A) Secondary oocyte (B) Corona radiata (C) Zona pellucida

(D) Theca externa (E) Membrana granulosa ~ (F) Theca mterna

(G) Antrum

PR0HR YEETR §obd FPPO JNDO ol GDOF 88 5800 §alot” @aiadl yaid

(A) Qo & (B) §6'a GGaber (C) &¥'a Durge
(D) &3 @)gbﬁ.}ﬂ"l (E) ﬁ)oﬁ_"“ [ffﬁ)ﬁ@’s?":' (F) &z Hoﬁi[ﬁ“l
(G) ojt:» 0

Options

A—€C-B-G—-E-F-D

2. %

B~ A =D F~E -G
3. %

i s BE § S LR T o R
4. %
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Assertion (A) : One of the natural methods of contraception is lactational amenorrhoea.

Reason (R ) : Ovulation generally does not occur during active lactation.
DBYBBI0 (A) : CPFRNS iS00I 28 R (16)TUE D68,
s (R) 48D atoiiosod) i PTrdmerP wod®do i,
The correct option among the following is
& 00 DAFOS AOWIL
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D950, (R) D50 500K (A) § (R) DOV D588

1.+
(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)
(A) JdBgaim, (R) Redgain 0w (A) § (R) Q0G0 Da3des 5760
2. %
(A) 1s true but (R) is false
(A) 3Bz, 5°A (R) wSgdw
3. %
(A) 1s false but (R) 1s true
(A) 0385w, 3 (R) IBgasw
4. %
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If a blood sample 1s mixed with antiserum containing anti-A antibodies and anti-B
antibodies separately and if no agglutmation of RBC occurs. then the sample blood
belongs to the following blood group.

8 8 SSPTS FO58rP ofald-A HABHFL 560K Oired-B HEBFL &) 0ol
H6ES" SUP ST S U LT (0980 RIS & ST B Ko & &0

eEENOPMVIVEVERIATN A}
Options :
A
1. %
B
2. ®
AB
3. %
O
4,
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Male children born to a colour blind mother and a normal father 1s

SgrotS ] GOS8, aSrairen By S0 Sols 2290l () BPHL BYR VTP P &otrd)

Options :



100% Normal only

100% oSTmaoren c‘ﬁga}g dﬁ?@&b

1. %
100% Colour blind only
100% Sgrald® %o ﬁ?@&
2.+
100% Carrier only
100% ararSo u‘ﬁjﬂ*@ﬁu
3 %
50% normal or 50% colour blind
50% oSralaren &yd Swe 50% Sgrediso
4. %
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In DNA finger printing, transfer of DNA strands on to the nylon membrane is called
DNA 20ii6 DotSofies’ DNA HEoch Jer8 o pS w00 SobaQy  wobrih,

Options :



Western blotting

er3oh)
(]

&

D

Southern blotting

NEGR gPedeh

Denaturing DNA

DNA 237 280

Gel electrophoresis

365 aﬁugj@f@i}?ﬁ
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The virus which canses Bird flu 1s

236 Pl SLulidd IS
s

a_

Options :

H,N,



H,N,

2. %

H.N,
3.¢

H,N,
4. %
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Cancer cells do not exhibit one of the following features

330 S St OSErD) Sgfo Baked)

Options :
They are not joined by cadherins

560U Fuonead Godiad

They do not exhibit contact inhibition
N)0°3 AT )
2. %



They exhibit metastasis

DET PR RO PR

They undergo programmed cell death

VET PSP aOEPRS (Wla)HE 0w

!
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Identify the force that is associated in /7 -decay process
JF= @ﬂ&cﬁi %%Df&é\) o2oGIoR) BWETPR) ) (90000t
Options :
Strong nuclear force

S350 SoB0% WL

1. %
Weak nuclear force
20PN SofON 20Lei
2.9
Electromagnetic force
VLGOI oS 2L
3. %
Gravitational force
(o 808 2owadw
4. %
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Identify the correct option.

OGS 8003 8ad0rl (el



Options :

Radius of earth > Size of galaxy > Size of hydrogen atom > Size of proton

arargPgaln > Nerd) DB > PG Ee DOSrm Ve > FPErD D

e

Size of galaxy > Radius of earth > Size of hydrogen atom > Size of proton

&

Oy Ra8 = alrargrdaln > r@en Darw par > Férad P

2. &

Size of galaxy > Radius of earth > Size of proton > Size of hydrogen atom

=

o

0erdy 8 > aPargPdald > JFEPD 2 > FEEN O

a_

%

res
e

Radius of earth = Size of hydrogen atom > Size of galaxy > Size of proton

WrargPdain > rEee Dddrm ey > Nerdy e > Ferch e

4, %
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Two balls A and B of masses Mi and M (where Mi = 3M>) are dropped from the same
height. The time taken by A and B to reach the ground is T1 and T respectively. The

N
ratio — 18

2

M 00050 M) (Qé&@@ M; = 3My) é&ﬂb D0 M0 Bl WotLD 28 W Dol

W2
Options :
25 |
1. %
125
2. %
| R
3. %
| B
4. &
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A ball under uniform acceleration travels 6 m in first 2 s and 16 m in the next 2 s, Its
mitial velocity 1s

2l 200 E B @5683511)&.6" J0OE Dol A0S 6 mg; [N e NNV To Vvl
2 Ahexs 16 &3&)@ P Gododedd gwﬁéﬁuﬁé&. &3 2008 &5 oifad

Options :
1 m/'s
2
1
— /v
)
1.¢
1 m/s
1 sofe
2. %
m/s
3
— el
3
3. %
1 m/s
4
1
4
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A M

The position of a particle is r= xi+y j where x and y are function of time t and given
as x =(12+5t - tg)m and y =(18 ~5t4+t’ )m. Att=1s, the magnitude of the velocity

vector of the particle 1s

a8 $) PR r=xity ], RS0 1 H00W § 00 FOWS SO HHoY,
X =(12+51— tl)&'b 000k y =[18—5t + tg) ) OIDIENTP B3geatold. t=1 2 & S
F9 HOSEaa

Options :

243 m/s

243 s/
1. ®

342 m/s

W2 &
2. %

42 mfs

W2 R
3. ®



343 m/s
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A boy drops a ball from the top of a building consisting of several floors. Each floor
has the same height. The ball covers one floor from the top in one second. The number
of floors. the ball will cover in three seconds 1s

©93¥ @00 (10 8 Waldekd D bol TPV 8 2008 SO, DB Do &8 o)
50N &) 0. Wod 8 DING 8 BB We sy EHVES & Wod DS HONNS
BoOWO VoS

Options :

4
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A ball 1s placed on a wedge as shown in the figure. The wedge starts moving fo the left
with acceleration 2g tan 0. The time taken by the ball to cover a distance L along the
plane s

(Neglect the friction)

a8 20080 SR DRSNS’ EPi AorP Godmrd. 2g tan § B dan ¢ S wlich 3
S0k FOoRlel. L) SLa 2 L Ar Gl WEH 2eds D60 FUD

(HJJ(;)?:dr\:J &’J‘fn}é@oéo&)

a=2g tanf
Options :
2L,
p=i
gsin 0
1. %
J2L
t= -
gsin O
2. %

3.



i gsin
2L,
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Which of the following statements 1s “CORRECT™?

&2 $old DIBEOS’ DB HOAWSE

Options :

In an elastic colliston of two bodies. the momentum and energy of each body
1s conserved

Dotk SRUHO i 20N LS P SNPGRS P e AT BiSg ek

g

50080 ¥§ ABgED

1. %
Total energy of a system 1s always conserved. no matter what internal and
external forces on the body are present
Sred) Do WG SOOI sParg e SaNREIS dgain TH0Ey o 45
VTSI PNTa VN

[“ ]

2. %



Work done in the motion of a body over a closed loop is zero for every force
in nature

G

-0

0 DRODSNES D Vo )& SLOLING D 2wl ilag) PRI

In an melastic collision. the final kinetic energy is always less than the initial
kinetic energy of the system

S @RS P ORIrSRNG’ S5 Ty @B (1S 3§ e yEr 7O (1S §
5ol3 f‘f‘ﬁé&&&ﬁﬂ” = AV

4.
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A cricket ball is dropped from a building of height 30 m and the coefficient of restitution
between the ground and ball is 0.5. The total distance covered by the ball before it
comes to rest is

8565 20030 30 & e P ol SOOTH. JH DO weds ol
W gadPed (ealain 0.5, QEHOVBS didy avodd Lo SO awo drdain

Options:
60 m
60 &
1. %



10 &0
18 m
18 o
3_ W
50m
50 o
4.
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A wheel moving with mitial angular velocity 20 rad/s. stops after 50 revolutions. The
time taken by the wheel to stop 15

20 BGahon /R &0 §'giolh Stelo (ONTIND) 28 i 50 D0%fOE B BiF).

SIWEAWES IV SRSV

Options :
17.1 sec
17.1 &
1. %



15.7 sec

15.7®
31.4 sec
3143
3. ¢
47.1 sec
471
4. %

Question Number : 91 Question Id : 1056151851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A block-spring system executes simple harmonic motion. The mass and spring constant
are 2 kg and 80 N/m respectively, Initially the block is pulled from equilibrium position
by a distance of 10 cm. The total energy of block at 6 cm away from mean position is

Hodw 80 N/m. e5Sesre @m:a’“me.s‘ oG &&ém 10 cm

o
ErSaincsty ertherd. DMfEw Pan Kol 6 cm ErdNET & Bady sy dnde #

Options :

0.261]
1.4

2. %



0.307

0.407J

0L 153
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When the period of rotation of a satellite from west to east 1s the same as that of the
earth. then the relative velocity of a satellite is equal to

APR08 55 o 2feoea P SONS 2 AP Deklod hobs BRI 0Ty 8
ST P H5K00 HSPID D0

Options :
Half
2 ado0
1. %
Double
OolectHe)
2. %



Same

o3

Zero

4. &
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For a perfect rigid body

e,

R ROEYS) Jo FARIF ISV INEY

3,

E8

Options :

Young’s modulus 1s infinite and bulk modulus 1s zero

0% (Ea%eiy ©aietHaid o0 &30NEsS Mol o N

1. %
Young’s modulus 1s zero and bulk modulus is infinite
OSoh (ioga¥aln 0y si0O0%N IS (oeEdn @doadn
2. %



Young's modulus and bulk modulus both are zero

05008 B0 305898 Hucadeinew SRy

Young’s modulus and bulk modulus both are infinite

05000 s0O0IN QIO (agadne ©dethain
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. . . n . i)
A force of 500 N is executed on a hydraulic piston of cross sectional area of 100 cm”,
The cross-sectional area of other piston which supports a truck of a tonne weight is
9
[use g=9.8 m/s7]

100 em? iﬁiﬁg:ﬁgdﬁ gavoﬁgi:s (e %*’@E m&uéﬁwg 500 N z006in @ﬂ“ﬁoﬁwaé&. 28
) 20dua)) (i Q80D erlo Solife bG8 sl GIog)y, soigud J_;_g PERIIW

[2=9.8 m/s’]
Options :

N
200 cm-

196 cm?



1960 cm?
3.v

.
08 cm”
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Two solid spherical balls A and B of density 10 g/em’ have radius of 30 mm and
55 mm respectively. Ball A is dropped in a liquid of density 0.75 g/em’ and viscosity
n=1-5 and ball B is dropped in another liquid of density 1.2 g/em® and viscosity

1 =2-2. The terminal velocity of ball A 1s a times that of ball B. The value of a 1s

10 g/em’? Polid tf0 A 00 B e Dol (1) (T'950a) 200800 PPN ST
30 mm <H00Kw 55 mm &7) 0. Wed A 0,75 glem’ Pl adO0I0 A (18 =1-5f
$cSaines” SoO0Kw B 200@ Foli 1.2 glem’ a0k NS =22 fo bFY Sl
SO0TS. A Gy, b aifeln B aing, Wb diinadh a @eduned a g, duds

Options:

0.46
1.4

0.36
2. %

0.26



0.56
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A hot container takes 1 min fo cool from 95°C to 75°C. The time 1t takes to cool from
74°C to 54°C 15
[ consider the room temperature as 30°C]

S 95°C ol 75°C 550 weds 1 min Soctued. 74°C ol 54°C &

d o

Ep

5§

EC-

égwc;“uodj ﬁ“g MV ESTIIN

[ 0 &3S = 30°C]

Options :
97 s
1.¢
70 s
2. %
102 s
3. %
82 s
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A point source 1s at temperature T. The intensity at a point at a distance r 1s I. The
temperature 1s doubled and the distance of point is also doubled. The intensity will
become

a8 B0l &Sl T &S 30 ed)b. 1 Srdadng’ w8 Bothaaddd o S L el

o003 drdain Bobiotien i&édg@ NCEON

Options :

21
1. %

41
2.

81
3. %

161
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The internal energy of an ideal gas depends on
w8 ©&8 POl ISy, @i F5 HIR TS DEEd.
k i a
Options :

Specific volume

D35 aed 00eSIPEID

1. %
Pressure
P INTNW
2. %
Density
Po
3. %
Temperature
&S
4.
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; . L sa .
A system of gas at NTP 1s suddenly compressed to 5 of its volume, Calculate the final

temperature of the gas,

[Take y=1.5]

A 154 W ]
TIOn &P ddany (NTP) &0 araln dibodd @ adndairesn a VLY
Nod)Gcdod) WololPd). Poie) a8y, o3 %gﬁ‘ﬁ\?ﬁ@ (Ydondobe.

[Take y=1.5]

Options :

819 °C
1. #®

346 °C
2. ¥

K95 °C
3. %

21390
4, %
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Two gases A and B are having molar mases of M and M and temperatures T1 and T»
respectively. The rms speed of gas A 1s twice the rms speed of gas B. If the ratio of
Mj to Mais 2:1. then the ratio of Ty to T2 is

A 500w B &9 Dot araivse airerd (ads ordhen M1 ah0oho My sbdoln &3fiden
3000 T1 addO0 To. A o8y, mms o5& B Glg), tms oGS olio®en. wide’ Mi aol

M2 © Q)8 2:1 eowd, T1 ol T2 QS

Options :

8:1
1.+

1:8
2. %

4:1
3. %

s |
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; b [ . .
Two strings A and B of same matertal of length / and —. are subjected to tension T

and 2T, respectively. The ratio of fundamental frequency of A to fundamental
frequency of B i

_ . [
a8 DErganed” dalebd A ook B &b Jot Bedoye drdahen | A% 7 VOOV

F

Options :
1. %

Z5 1
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Light is mcident from medium with refractive index \/5 on medium with refractive
mdex 1. For what angle of incidence the angle of refraction is 90°7

N2 BG5S R i oPse D Pod HESVNYIN © OIPSED T, SRS

(5068250 1. o) D08 St SIS §eantn 90° entfod

Options :

459
1.¢

60°
2. %

90°
3. %

30°
4, %
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A diffraction pattern is formed by monochromatic light through a single slit. If the width
of the single slit is reduced. which of the following 1s true?

ol S8 T30 o8 &5 T0B3D Doddod AiSeS DS ) )0, HOE 08y, ke o
S0 &1 300 P O NONSE ?

Options :

3.¢¥

The width of central maximum is unchanged and the intensity of central
maximum decreases

SoB0% HODR) Dtieny SPE SO0 SoBOH HEDE) S Sbtnod

WA

The width of central maximum increases and the intensity of central
maximum Increases

W

S0B0% HOGR) Tekeny DB SO0 SoBOH HOHD) SS DKL

The width of central maximum increases and the intensity of central
maximum decreases

Sof0h (105 a3dieny LR dHOOK SoGok HORW B Siuttuod

The width of central maximum decreases and the intensity of central
maximum decreases

SoQ0% (HOPK) Ithey BeeB HOOKY SoBO KO SIS SiH6d
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If an electric dipole of moment (P) is placed in a uniform electric field (E) and making
an angle (@) with electric field. the potential energy of the electric dipole 1s

Options
PE (1 —cos 8)
’| e
—PE(1—-cos &)
2_ )
—PEcos &
3.
PE cos &
4. %

Question Number : 105 Question Id : 1056151865 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A 5.0 pF capacitor is charged by a 2.0 V battery. It 1s then disconnected from the battery
and 1s connected to another uncharged 5.0 uF capacitor. The loss in the electrostatic
energy in the process 1s

20V apgbided” a8 5.0 (F 50800 Qgtrdtodirdy. wrgld ool DEOD & L3O

o

O osTH 8ir 5.0 uF K08 YOUTE. & DADS'D 6 Biogd S 50N

Options:

10 2]
1. %

w11 |
2.9

7.5 ul

3., %

0
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The resistance of a metal wire is 5 Qand 6 Q at 50 °C and 100 °C, respectively. The
temperature at which the resistance 15 7 Q 1s
50°C a6akn 100°C &5 &8 €5 aray) &) (VWIS QG G0 SGore 5 Q abbain 6 Q. wowd

o) &I I GG 7 Q ik

Options :

145 °C
1. %

200 7€
2. %

150 °C
3.¢

5 e
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Two resistors of 3Q and 6Q) are connected in parallel. If the total current through the
resistors 15 15 A. then the currents through the resistors and the potential difference
across the terminals of the parallel combination

(his Jias V) are

3Q 50050 6Q © AGESNLD (0 Tl ATTVD VesPetSarP ST, SLOLNSR
o DS HPPo 15 A 000S 83, AL DliogS BP0 HOO o

aptbor (i FEANS 8@ (Lg; Iig; V)
Options:

5A;10A:60V

1. %

SA;10A:30V
2.

I0A:5A:60V
3. %

I0A:5A:30V
4.
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Two mfinite parallel wires separated by 1 m carry current I in the same direction. The
magnetic field at a point 50 cm from each wire 1s

1 0 ol 190 @aotahoed drial)iie Dol Bl il ararain I 68 &S Daidraed.

Q
o

28 &0 ol 50 em drdnie Dotiad) o569 (e OHFY 0 FH

C

Options :
1,1
2z

2,1
3

2. %

1,1
T

3. %

0
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If two parallel current carrying wires A(200 mA) and B(300 mA) are separated by a
distance of 1 cm. the force per unit length with each other 1s

(,uf,=4;rxl{) )

DC0gS DTN Dol oSy Sifen A(200 mA) oOakn B(300mA) . 1 em drddng

God ;ﬁf L &SR Ruireen Crdaianitio aosn
(1, =47x107)

Options :

6x107° N/m

12x107° N/ m

2_ 4

6x107 N/m
3. %

12%x107 N/ m
4,
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Statement (I) : A bar magnet exerts a torque on itself due to its own filed.
Statement (II) : Magnetic field lines can be entirely confined within the core of toroid.

Statement (IIT) : The net magnetic flux through any closed surface 1s zero.

SRS (D) © 665 ot ZHI IS BoGmolbiFyo8D P P60 55050 0k0B.

P

Sarcded (D) : ealliry0SEE Swew rdrr &EonG dngy §'65 aomdddera.
QSRS (II): Nl yO &0SUo (oG &) Q50 WPy o GEFTID W) .

J

C

Which of the following is correct?
& §00 S 26 VOO
Options :

Statement I. II. III are true

0B3PS L IL T 9550

1. %
Statement L. ITT are true but Statement II 1s false
‘é@?cﬁr‘éw I. III %’J@@&i}) o) ‘@@iﬂc‘écﬁ II fé:"n}efﬂ%dﬂ:.)
2. %
Statement 1. IT are true but Statement IIT 1s false
Q@@ﬁﬁéw I.II aeﬁgm o) g@ﬁﬂdcﬁ 11 @K}eﬁ%&m
3. %

Statement II. IIT are true but Statement I 1s false

DS TIL T 055050 S HEFES T 90950
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The magnetic field mside a solenoid of cross-section area 4.4 cm”, length 1.0 m, 1s
2 X107* T. The magnetic energy stored in the solenoid is

Soldgdyd Frogin 44 an’, ) 10 m (0 &8 POTONESD @ahPyed FE

!

2 X107 T. POTPONES e HoDeit ©awPy o 3

Options :

T ul
1.+

12 gl
2. %

5 ul
3. #

8 ul
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An ac source with angular frequency 400 rad/s 1s applied to a series LCR circuit in which
C =100 pF.L=20 mH and R = 8.5 Q. The phase difference between the voltage across
the source and current.

C =100 pF. L =20 mH 805 R = 8.5 Q &0 $90 a8 LCR 368 ssoofeincdi®o 400 rad/s

4

S0l FREYgen 0 88 0.0, EElucd SONTE. Buies OO YaPiraR to &

EATANW)
Options :
tan '(0.5)
1. %
tan ' (2)
2.9

tan '(0.25)

tan " ( 4)

Question Number : 113 Question Id : 1056151873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
It has been experimentally demonstrated that
DA g Sl WG30u980G N
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EM waves can transport energy but not momentum, however. they do not exert
a ‘radiation pressure’

DCgEOHT e Slorren A ®akidddn SFon A Qg afidnd w0,
0N )ES B ‘DETe HEI0" FLiIche)

EM wave can transport energy but not momentum. however. they do exert a
‘radiation pressure’,

25BN BlorPey D GENIDILD IPon TO Gy HwD T,

900D )ES &8 ‘D8 Hldand’ FLutidipow.

2. #
EM waves can transport both energy and momentum and they also exert a
‘radiation pressure’,
DEVGEOT o Sl 50 DOGKL Gy S @ifddan JIPow,
SRk W o ANV IWN IR Vi el OV R oW

3. ¢
EM waves can transport both energy and momenfum however. they do not exert
any ‘radiation pressure’
D00y 0 BUerPen 6 OO Gy Tl WIS PO T
‘D80 Dndaonh’ Funiiokeg)
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Threshold frequency of incident radiation in a photoelectric experiment
A)  depends on material

B) depends on wavelength

C)  depends on intensity

Fo DS OB HATPIINE DSBS DESER) B8t el Qg
A) IO INWITETALle STy

B) Eﬁdoﬁ@{_‘jﬁma} EInoXleNINY)
C) @éﬁé@ LTINS PR INY
Options :

A. B are true. C 1s false

A, B e 0855350, C e:088ga50

1. ®
A 1s true. B and C are false
A ?bei‘-:lgn"m B 0605w C e @fﬁfﬁgm
2.
A B. C are tiue
AB. O E’{JEE:S:?SJJ
3. %
A. C are true. B 1s false
A Cen “n.‘:lﬁ‘fl,g ww. B E—.‘Jfﬁfﬁ*gﬁb
4. %
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Correct Marks : 1 Wrong Marks : 0

If the mass and the kinetic energy of the particle is increased each by 1%, the percentage
change i the de -Broglie wavelength 1s

28 8525 (5507 00050 (56 005 1% Do, 65 SolDUsSHETD Sy TS

Options :

—2 %
1. %

+ 2%
2. %

— 1%
3. ¢

+1 %
4, %
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The ratio between shortest wavelength in Balmer series to shortest wavelength in
Brackett series 1s

L4

w0 SR s

Sariadsiy B3



Options :

1:16
1. =

16:1
2.

 JEaE. |
3.

41
4, =
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The mass equivalent of energy 2.7x10"] is

2.7x10"T 3§ cag) ($530°8 Seged

Options:
2g
1. #
3 g



18 g
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Wires P and Q are having same resistance at room temperature. When heated. resistance
of ‘P" increases. and that of ‘Q" decreases. we conclude that
(96 &I 968 P 0oty Q &ifen a8 A0 Galand SO0 0oy . PR 36 Dk ‘P’

RO Gaio 20O Q" A a0 END, oriekd AP Boldnild

Options :

P and Q are metals of different materials

P 0ok Q e a0 Rardealneed” Hoakd &

P 1s metal and Q is semiconductor

P €9:50050 S'dPadn o000 Q 95030 e98arirEain
2. ¢



P is semiconductor and Q is metal

P e98amerEadn o005 Q &arein

P is nn — type semiconductor and Q is p- type semiconductor

P n— 0forarein <oloin Q p- @dararidn

4, %
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The energy of a photon of a monochromatic light of wavelength 621 nm equals the

band gap of a semiconducting material. The minimum energy required to create an

electron hole pair is

[Use he = 1242 eV - nm. with h = Planck’s constant and ¢ = velocity of light]

621 nm SGe(iBYgan (0 &8 oJ% $§ P awngy Féro ¥ e dordy o

oS0 DelPday. a8 WOPIO — Solidld @S FuIondD FIORS esed

GEVINE

[he = 1242 &V - nm, h =8 AT7o8al, ¢ = Fod aifain]

Options :

1.2 eV

eW

2. &



1:5:eN

1.75 eV
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The maximum peak -to peak voltage of an AM-wave is 18V and the minimum peak to
peak voltage is 6V of the same wave. What is the modulation factor of the wave?

AM- Sotiny B0- 38 (105 Bee 18V b0k el Sdotiay 38- 3800 83 u‘ft’;w 6V,
& B0o(i) aﬁm’ugt’j‘fqﬁ UL Jots?

Options :

2.0
1. %

0.5
2.9

0.75
3. %
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How many neutrons and protons are there in the following nuclei?

61 $ob & Yy, Sofieru (0 Airgéar® adOOKD ErQw GINEy Doadg eod?

s | g "J
l_‘sc ¢ H4M“

6 “12



Options :

Tos Y212
1.

6. 7:24 12
2. %

13.6:24.12
3 %

6.6:12.24
4. %
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The mathematical expression of the uncertainty principle 1s

SO Q0L TIEy, (1B rGdw

Options:

Ax.Ap = h/fdx

Ax.Ap > hidx



Ax.Ap < hf4x

Ax.Ap < h/arx
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The correct order of electron affinity of the given elements 1s

&2 800 ABINGEN SPUTL CWE, WU VBRI OGS S

Options:
F<(Cl<QO<5
O<S<F<(
2. ¥
S<0 <C(Cl <F
3. %
Cl<F<S«<O0O
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The set of amphoteric oxides is

&2 800 TPRS” BIVLEPSE WEYEL DB IO?

Options :

Al,O;, In,0,

1. %

Zn0O. B,0,
2. %

ZnO. T1,0;
3. %

AlLO;. Ga,0,
4, &
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How many of the given compounds show hydrogen bonding?

o = iz

&8 808 Naly Fdanees D ), TG 83 200Giained) o8 yEodonh?

Phenol. NHs(1). H2O. CH2Cla, cyclohexane

peS RETEHS
Options :
2
1. %
5
2. %
4
3. v
3
4, %
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The shapes of ICls and ICI, . respectively, are

ICls 50805 ICI; © G, ey S&0

Options:

1. %



Square pyramidal and Square pyramidal

é@l’aﬁg’q K}J‘*@gﬂﬂéc Psbialoviy) éaﬁ:d@ &Taﬁﬁsafju

Square pyramidal and Tetrahedral

O o o) &3 Ge
LG A s o a0 G¢rarES

P

2. %
Square pyramidal and Square planar
WG A gEede 0Ol WEOR NS
3.¢
Trigonal bipyramidal and Tetrahedral
S5t Qrargdo 0L EErarid
e od L L=
4. %
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A balloon filled with helium 1s pierced with a needle and quickly dropped 1n a tank
of hydrogen gas under identical conditions, the balloon will

o

OGRS AOVROT PO Donwiiad &l TUrAW &l Wrde” P Jodd

Options :

1. %



Shrink

50Q0i080 SFadedd

Enlarge
NRELSINVOVINY
2.
Collapse
SrdaFaadiond
3. %
Remain same
930 DT Golededd
4. %
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At 300 K and 100 bar pressure, the measured volume of 5 mole of a gas is 2 L. The
van der Waals constant b and compressibility factor Z. respectively are

300 K <00k 100 8760 aaian o 5 ardw droie) a0 2 ff}-ﬁng OOV

u

Polid TS VT8N b SHOOK Vel (Ve Z © duuden SEdrP

Options :

0.15.1.6
1.¢



0.01.1.1

2. %
0.20. 0.8
0.03. 0.95
4. %
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The number of moles of sodium nitrate required to produce 128 g of diatomic oxygen
[NaNOz is another product] is

128 rpaine) Qparmod esdyae WSl edvddag Faakho JEE dresw Dowg

[NaNO;2 90:30 078 &2 0%aiv]

Options:

4
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Autooxidation of bleaching powder gives two products A and B. The correct options of
Aand B are

)

Dlozend Wrdan dny O30ko @ébééaam@’ A 50cn B o3 Tl &8)d) sow

2J5YESR. A 50050 B &0 & Sobb PAE JD?
Options:
A B
CaCl2 On
A B
Ca(ClO3)2 CaCl»
2.
A B
CaClz2 CaO
3. %



A B
CaClOs CaO
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0.5 kg of air at 1 bar occupies 0.3 L. If air slowly expands isothermally into a volume
of 3.0 L. the heat (I) absorbed by the air is. approximately.

0.5 50 ralua) 1 &P0 Wdeln &5 0.3 g w0, 00iPeaky BEd, & Tokued
G U'

S0 E.‘Jél.ﬁJ m—:.cag-a a]nb >3 o) Weld 3. g 2,0aSTE8e50 GEOISaE 3 aow

70

[
(%]
=
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Water gas shift reaction is carried out m a 10 L vessel at 300 °C. Calculate the
equilibrium constant for the reaction. if 40 % of water (by mass) reacts with CO.

Options :

1
1. %

0
2. ®

0.44
3.¢

0.66
4, %

Question Number : 133 Question Id : 1056151893 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



For the formation of ammonia from its constituent elements. the value of K¢ 1s
3.0x 107 at 27 °C. The value of Kpat this temperature is approximately

27 °C ¢ @alrpd0irad 6 sy dob GOIrd Jude Ko dund 3.0x 10°

9005 §E &S S Kp D dudrdore

Options :

4.8
1. %

438
2. %

480
3.¢

240
4. ®
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Assertion (A) : Boiling point of H20 1s more than that of Ha2S.

Reason (R) : Heat of vaporization of H>O is less than that of HoS
QABBO 0 (A) : H20 Gongy, eorayadeded Poisid HaS Sod VLV

w6%0 (R) : HoO Gy, sPR)ases & HaS §o63 80, &,

The correct option among the following 1s

&2 Sold DTS LOTRASG

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) Dega00, (R) De5ga50 a00A%0 (A) § (R) OGS DeSes

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DSz, (R) Dhgainn @ow@ (A) § (R) 0000 Deddes 5760
2. %
(A) 1s true but (R) 1s false
(A) DBgadw, 2 (R) @90Sgen
3.¢¥
(A) 1s false but (R) 1s true
(A) e0Sgaw, 5 (R) 0egain
4. %
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The set of metals that can react with water even 1n cold conditions are

IBOTS DOVBLS i AéleS” Wiy 20D SIL s

Options :

Be. Mg
1. %

Sr. Ba
2. ¥

Mg. Ca
3. #

Be, Sr
4, %
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Assertion (A) : Among group 13 elements. boron has unusually high melting point.

Reason (R) : Boron has a very strong crystalline lattice.
A3 Baln (A) : {rd 13 drorud, oes erddtdore ek Sdaidd wddn 50N
&) 8.
Ugio (R) 1 WO WU WU 088 wrotidn $00 &) O
The correct option among the following is
& S0 DQ)FOT AOTIG
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) H95, (R) D935 o805 (A) § (R) DO D5

1.
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DBgadn, (R) DSz o0 (A) § (R) Q0G0 Qe5es 576
2. %
(A) 1s true but (R) 1s false
(A) 0Bz, 3 (R) ©90Sglw
3. %
(A) 1s false but (R) 1s true
(A) 3Bz, 5°A (R) dSglw
4. %
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Assertion (A) : Graphite conducts electricity along the sheet.

Reason (R) : Graphite i1s used as a dry lubricant m machmes working at high
temperatures.

29SO (A) : [FR45 0 oo Qg H0K00.

W

S0 (R) (PR GOSARIS 5 DTH 0EPUE BURR) LB SHCIFNTS.

W

The correct option among the following 1s

&8 Sold mbsﬂw Q@ol WA

Options :
(A) 1s true. (R) 1s true and (R) is the correct explanation for (A)

(A) D955, (R) D955 08050 (A) § (R) DO D588

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Ohgain, (R) DS9zan @on® (A) § (R) 0000 DG ¢
2. ¥
(A) 1s true but (R) 1s false
(A) DBgaw, 2 (R) @S
3. %

(A) 1s false but (R) 1s true

(A) @855, T (R) 0930
4. %
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The IUPAC name of the following melecule 1s

€3 S0l ©Ewe) GIwgy, IUPAC TPcluadin

OH

Options :

5—Hydroxy—3—methylbenzonitrile

1. %
3—Hydroxy—5—methylbenzonitrile
3—rwedy— 5 — Pl 39S

2.
3—Cyano—5—methyl—1—hydroxybenzene
3—000F —5—NPS— 1 — FE"E ET0ed

3. %

5—Cyano—3—methylphenol

5— 008 —

L)

— WRSHTO
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The number of ¢ and m bonds present in the given compound. respectively. are

O TG’ 0 SHOAK T 20TPL Noddg SUINIP

V% NN
Options :
T&4
1. #
18 & 4
2. %
17 & 4
3.¢¥
8é& 4
4., =
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Which statement(s) 1s /are “not” correct?

(a)

(b)
(¢)

In general benzene contains three double bonds and benzene does not participate

in addition reactions.

Benzoic acid and Salicylaldehyde are not 1somers.
An electron donating substituent in benzene directs the incoming electrophile

to the meta position.

& $00) P& O TR,

(a)
(b)
()

oSS S0 BT S0 HO Fotd Ko SEguE PSS,

¥

Botd QW Geldald OO POLSUSEIFEL) FUYTIN Fa).

3o2iQ D (0 JUP DS JabrraD JUSNOE IBZHS W D6yt

o

W

QUSHRSD DR PSSO DoBohod,

Options:

2. ¢

4. %

a and ¢ only

a o00alw © 556"@54

b and ¢ only

b 500K ¢ S

a and b only

a 6050 b S

a.b.c

Question Number : 141 Question Id
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Metallic won crystallizes in BCC at room temperature and transforms to FCC structure
at high temperature. Calculate the ratio of density of iron at low temperature to that of
high temperature [MW and radius of iron atom remained constant]

0560 S3F(IE8 2565 R0 €'y @02 30389 SunSalinrP R)E8¥00RIG o0y a5 S3FIES o565 Do

06 S 500 S

!

Sof% QIO St B3 GG OGN oy G

Poll® MG (060 DESreaa) @EBJEJ“éo‘iu w000k a5 PGaid U]
Options :
(2:4)
1. %
(3:4)
2. %

G\3:242)

[3@:4\5)
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Which of the mixture of solutions 1s an example for —Ve deviation from Raoult’s law?
& 800 TPsSeann irus 08 TS 0Raai ok sEs AIOTBNIN & de?
Options :

3 , + Toluene

AL
1. %
CCl, + CHsOH
2 %
CHCl; + CgHs
Ceily < CHCL
4. %
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The aqueous solution that shows the maximum boiling pount elevation 1s [Assume
1dentical conditions]

508 GRS PY G (10 2O TIHR DB, [HIFORIDY S0P

\?:‘Jnf;.af mi]

Options :

1.9



0.01 M Na2S04

0.01 M KNOs

2_ W
0.01 M Urea
0.01 M cordosr
3. %
0.01 M Sucrose
001 M e‘{ug"“cﬁ
4. %
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When 2 moles of electrons are transferred during the electrolysis of water, the volume
of the gas liberated at the anode at STP 1s

D6 g BaTR; DICDLE’ 2 P WFIReD KOS STP &6 &G S Junted ok

VNI VI
Options :

11.2 L of H?



224 L ofH2

56 L ofO2
4.+
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The initial concentration of the reactant is 0.1 mole L™, The rate constant for this
reaction is 1 10 mole L™'s™, When the concentration of the reactants is increased to
0.2 mole LY, the value of the rate constant

[assume constant T]

Solrasday &0 mES 01 6. GG & W& am Ol Aok
1 x107 a6, 7. Sobradvo eSS 0.2 rd 07 Dol B Jomosan
NN
[T 28s50rP aPoiosiy]

Options :

Increases by 2 times

2 Bén DN
1. ®



Increases by 4 times

4 B HENHBE

Remains the same

EvilelAb!

3. ¢
Increases by 9 times
9 DL DENDVD

4. % ‘
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The wrong statement about Freundlich isotherm 1s/are

. X
A) It can be represented at high pressure as — =k.p.
m

B) The slope of the straight line of ‘logp” Vs * ll:rg1 1,
m

C) It explains the adsorption behaviour in an approximate manner.
D) It holds good 1n the pressure ( p/ pn] range 0 to 1.

Freundlich 0a5 02 (0003 €5 $0b S KOS DI8E IO DO

X

A) 08 DES0 SS B T =kp D S0ord.

m
B) “‘logp Vs ‘log 2 Pa) GIgy, 08 B arew ‘1’
m
C) 903 0E PSOHD DOANS EPIAWES” SO,
D)  (p/p,) 008 0 ot 1 sy &y i DO SGRR.

Options :

A B, CD

A and D only

A 56050 D Srghid

B and D only

B 0050 D Srgsad

B only

B &g
4.9
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The compound that does not exist among the following is

B - i i
&z 5ol TS o)) EolitD?

Options :

HNO,
1. #

N,O,
2. %

NCI;
3.¢

NO,
4. %
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In the quantitative method of estimating ozone. the following are used

&2 §old PUT DA D0STErS  SorP 8,83 Qe AGOWeiT A8 &AIFHFL)



Options :
KI. Borate buffer and Na,SO,

KL 253¢5 206 00050 Na,SO,

1. %
Znl> Borate buffer and Na,8,0,
Znl 253 206 boiw Na,S,0,
2. %
KI. Borate buffer and Na,S,0,
KI, e53¢ 2056 550050 Na,S$,0,
3. ¥
Mgl> Borate buffer and Na,SO,
Mgl 253¢ 2006 a00a5w Na,SO;
4. %
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Assertion (A) : Inter halogen compounds of general formula of XX’ (n 15 upto 7) can

be formed, in which the halogen X has smaller size than X' halogen.

Reason (R) : Xis more electropositive than X',

2A)BE (A) : G088 PFORS DT Y, T eI XX, (0 6%
7 565%). 56X 0030 X' %6 5y 90570 300 Eolodd.
Soao(R) ¢ X' &)X S S, 0 K38,

The correct option among the following is
& Sobd DDyPOS 0GRS0
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D35, (R) 09550 2500050 (A) § (R) OGS D388

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) dgain, (R) gein @wow (A) § (R) QOGRS Dt 5
2. ®
(A) 1s true but (R) 1s false
(A) D&gai0, 3 (R) B gain
3. %

(A) 1s false but (R) 1s true

(A) ©0855550, 9 (R) 09380
4.9
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The element that 1s generally found in minerals of radioactive materials is

[ -]

ol PO 0O 0GAIrerO) S HTrgry RAEPUS 0o

&

i

Options :

He
1.9

AI
2. %

Xe
3_ W

Pu
4. %
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Among the given transition metals. the element which shows the least number of
oxidation states is

3

&t $od D03 ST VA vO0) Eﬁébﬁéa‘a REER 20000



Options :

Fe
1. %

Co
2_ W

Zn
3.¢

Cr
4, %
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3 X r 1 & gt i i
How many geometrical isomers are possible for [{_r{ .0, )J complex 1on?

[Cr(C,0,), ] %08y @ate38 ) £ esymgen Pgaoiod

Options :
0
1.¢
1



I~
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Essential amino acid in the following is

&z S0l TS SIS @@ﬁ‘ &9530a500

Options :
Alanine
HOI
1. %
Arginine
2. % =
Serine
20w
3. %



Tyrosine
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The major product of the following reaction is

- o i L r
&s $o0 S0 @9&55B¥rP cd)G SOireEgain )&

=

OH  goql,
HO
Options:
ISOA,
Cl
1. #®
Cl
HO
2.9



Cl
S oa
HO

Cl

4, %
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The major product of the followmg reactions 1is

e & i - &
&2 8ol S05S” @&sBETP UG SOLPEEIgain o )&

M1 4) NaOH, CO,
i) H,O .
i11) MeOH, conc. H,SO,
meds )
Options:
COH
OCH,

1.%



CO Me

OH
CO,H
OCH,

3. %
CO,Me
OH

4. %
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The major product of the following reactions is

&s §old WG 9EgRYT oIS YT §O5I°E S50

OH
1) HBr, A
ii) Mg
i) CH,O
iv) H,O
v) PCC
Options:
CH,
1. #
CH,OH
2. %
CHO
3.¢
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Choose the correct name for the reaction used for the conversion given below,

& $00 505 AT, OGS T,

o

CHO
CO., HCI .
anhyd. AICI, / CuCl ~
e:s-m{g

Options :

Stephan reaction

DR g
Etard reaction
P Mo
H..J“g J){J?J
2. %
Gattermann — Koch reaction
PEIGDN-§ 0 &65
3.

Rosenmund reaction

ErDieE 58



Question Number : 158 Question Id : 1056151918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in the decreasing order of ease of hydrolysis.
&2 S0 e B0 DFNE SN FhoainG” @aiodyyeln
CH,COO0C,H; CH,COCl  (CH3CO)0 CH,CONH,
(I) (II) (I1I) (IV)
Options :

[=1I>1II>1IV

1. %

I>M>1>IV
2.

IV>II>1>1
3_ e

I>1>I0>1IV
4. %
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The major product of the following reactions is

&3 §old WG egRYAT GG SO5I°ESg0

I
|y 1) KMnO,, KOH, A
C-CH,CH,CH, ' oy

iii) Br,, FeBr,

Options:
Q/CHO
Br
1. %
Q/COEH
Br
2. &

/Q/COEH
Br

4, %



Br
COH

()
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Aniline on reaction with CHCI3 and ethanolic KOH gives

G555 — KOH 06055065 S CHCl3 e8° 358 22083506 &

Options :

o



.

Q/CONHE



